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5) SAM added the ones and added the +ew\s bw“ he DID NoT
rebundle [0 omes into | +en (he didn'$ carry” at all - he
omitted these |0 ones cumple;l-el\f

Tutle added The ores to get Y} ones, but she INTERCHANGED
The roles of The digits | and Y ; she “carried'" U to The
temns column and wrote | m the ones columm when it shevid

be reversed

FRANK added The ovies and added 1re tems, but he wrote
+hege sums WITHOUT THINKING OF PLACE VALVE. Whea
he added The tens, he put 10 tens n The wimg place, so
he hevetr added 10 teuws + | more +en (that he got fom rebundling )




